MIAMIDADE ' MIAMI-DADE COUNTY, FLORIDA
- METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Jeld Wen, Inc.
3737 Lakeport Blvd.
Klamath Falls, OR 97601

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 8°-0” Steel Edge, Glazed, Steel Out-swing Door System with and without Side-lites

APPROVAL DOCUMENT: Drawing No. §-2200-01, titled “Steel Edge Glazed Steel Outswing Door up to 9’-
07X 8°-0” w/ & w/out Sidelites ”, sheets 1 to 8 prepared by PTC, LLC dated 1/6/02, revised on 6/7/07, signed and
sealed by Eric S. Nielson, P.E. bearing the Miami-Dade County Product Control Revision and Renewal stamps
with the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: None

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises and renews NOA # 02- 0328.12 and consists of this page 1, evidence page El, as well as
approval document mentioned above.

The submitted documentation was reviewed by Mohammed Igbal Shaikh, P.E.

NOA No 07-0709.05
Expiration Date:July 18, 2012
Approval Date: August 30, 2007
Page |




Jeld-Wen, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
l. Manufacturer's die drawings and sections.
2. Drawing No.S-2200-01, titled “Steel Edge Glazed Steel Outswing Door up to 9°-0”X
8°-0” w/ & w/out Sidelites ”, sheets 1 to 8 prepared by PTC, LLC dated 1/6/02,
revised on 6/7/07, signed and sealed by Eric S. Nielson, P.E.
B. TESTS
1. Test reports on 1) Air Infiltration Test, per SFBC, PA 202-94
2) Uniform Static Air Pressure Test, Loading per SFBC PA 202-94
3) Water Resistance Test, per SFBC, PA 202-94
4) Forced Entry Test, per SFBC 3603.2 (b) and PA 202-94
along with marked-up drawings and installation diagram of a steel edge steel
door, prepared by Architectural Testing, Inc., Test Report No. ATI-03-31370.01,
dated 1/2/02, signed and sealed by Allen Reeves, P.E.

C. CALCULATIONS
1. Anchor Calculations and structural analysis, prepared by PTC, LLC
dated 6/14/07, signed and sealed by Eric S. Nielson,P.E.

D. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 05-0921.09 issued to ODL, Inc. for “HP Polypropylene
Doorlight Assembly”expiring on 1/17/11.
2. Test Report No. ITS-J99006660-001, prepared by Intertek Testing Services NA,
Inc., issued to Jeld-Wen, Inc., dated 3/30/99, tested per ASTM E 84-94 “Standard
Test Methods for Surface Burning Characteristics of Building Materials”, ASTM
D 1929-91A “Standard Test Method for Ignition Properties of Plastics”,

E. STATEMENTS
1. Statement letter of conformance, and no financial interest dated 6/ 14/07, signed
and sealed by Eric s. Nielson, P.E.
2. Letter from Jeld Wen Inc. stating the revisions to the drawings, dated 6/22/07,
signed and sealed by Steve Saffell.

F. QUALITY ASSURANCE
l. Miami-Dade County Code Compliance Office.

—

W“

Mohammed Igbal Shaikh, P.E.

Senior Building Code Compliance Specialist
NOA No 07-0709.05

Expiration Date:July 18, 2012

Approval Date: August 30, 2007



JELB'WEN, Steel

8-0" STEEL EDGE GLAZED STEEL OUTSWING
DOOR UNITS WITH & WITHOUT SIDELITES

f

1.

6.

. PRODUCT ANCHORS SHALL BE AS LISTED AND SPACED PER ANCHOR LOCATION

. SEE TABLE 1 ON SHT. 7 FOR DESIGN PRESSURE RATINGS.
. THIS PRODUCT MEETS THE WATER REQUIREMENTS FOR "HVHZ" ZONES. SEE

GENERAL NOTES N
THIS PRODUCT IS DESIGNED TO COMPLY WITH THE 2004 FLORIDA BUILDING
CODE (W/ 2005 & 2006 SUPPLEMENTS AND HIGH VELOCITY HURRICANE ZONE
"HVHZ" REQUIREMENTS.

WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO TRANSFER
LOADS TO THE STRUCTURE.

DRAWINGS, ANCHOR EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL
DRESSING OR STUCCO.

THE DESIGN PRESSURE CHART BELOW.

DOORS AND SIDELITES REQUIRE MIAMI- DADE APPROVED IMPACT
RESISTANT SHUTTERS.

face sheets are bent 30° over the polystyrene core and

S

h

7. SIDELITES ARE AN OPTION AND CAN BE USED IN A SINGLE OR DOUBLE
\ \_ CONFIGURATION. J
/( RESIDENTIAL INSULATED STEEL DOQOR (Common to all frame conditions) %

Face sheets: 24 ga. (0.020") MIN.imum thickness, Galvanized

Core design: Expanded polystyrene with 1.0 to 1.25 Ibs./cf.

Door Panel Construction: The active and inactive door panels
are constructed from 24GA. (0.020" MIN.) galvanized steel.
The face sheet bottoms are bent 90° over the 24 ga.
(0.020" MIN. roliformed bottom rail measuring 1.73" wide x
1.21" high. The face sheet tops and sides are bent 90' over
the 22 ga. (0.029" MIN. roliformed top rail and side stiles
which measure 1.73" wide X 1.219" high. The side stile tabs
are bent 90° over the bottom rail,
x .50" 16 ga. rivet at each corner. The interior cavity is
p

ide
24GA. (0.020" MIN.) galvanized steel. The four edges of the

- glued to it. The panels are routed to receive the ODL Lite
Frames, and glazed with 1/8" SG or 1/2" optional I.G.

Frame Construction; The frames are constructed from
Ponderosa Pine jambs measuring 4.563" x 1.25".
and sidelite head jambs are mortised and butt joined to the

measuring 4.041"

\ (3) 16GA., 2" x 7/16" crown wire staples at each corner. /J

DOOR LEAF CONSTRUCTION:

Steel A—525 commercial quality — AKDQ per ASTM 620 with
average MIN.imum yield strength Fy(ave.) = 50,300 psi.

density, by JELD—WEN, INC.

and secured with a .25"

illed with polystyrene, and the face sheets are glued to it.
ite Sash : The sash are constructed from

The door

ide jambs. The door frames use a bump face threshold

x 1.0". The sidelite frames use a pine
ead jamb as their threshold. All attachments are made with

fSHEET Tt

\

TABLE OF CONTENTS

DESCRIPTION

GENERAL NOTES AND TYPICAL ELEVATIONS

VERTICAL CROSS SECTIONS AND BILL OF MATERIALS

HORIZONTAL CROSS SECTIONS

HORIZONTAL CROSS SECTIONS & NOTES

ANCHORING LOCATIONS

ANCHORING LOCATIONS

DETAILS

OO N[O [n o | ~—

UNIT COMPONENTS

107" MAX. O.A. FRAME WIDTH
- 0.75" MULL. 155" MAX. O.A.
75" MAX. OA. "
37F;fME Wom | 36.625 Mok oA BAR (TYP.) SIDELITE FRAME WIDTH
0.875™ (TYP.)}— 36 MAX. OA 0.875° PANEL WID.TH'-.—Js'BH” MAX. OA. 4° MAX. O Do reaset Control
' Zan PANEL WIDTH ” (e~ I W/ ASTRAGAL PANEé] WIDTH PANEL WIDTH
<]
- i 5
4 4 " 4 . S
# 21.125" 21.125 ] g8
f MAX. MAX. 7.125" MAX > o
— 0A — oA |- 0A. D.LO GBS
D.LO. D.LO. WIDTH ks
WIDTH WIDTH =S3%

" " " 79.125" Z O < -
97.5" 99 79.1257 97.5" 96 INACTIVE ACTIVE MAX Wy rw
MAX.  MAX. | MAX.  MAX.  MAX. vl OA = <Eg
0A.  OA e 0A 0A OA ) DLO. N E =
FRAME PANEL (D D-LO. FRAME PANEL @ BN (N o HEIGHT megx
HEIGHT HEIGHT \3J v v \ &/ HEIGHT HEIGHT HEIGHT (&Y ° v 4/ =& SE

)
(6]
=
%@ BOLTY 5.
L 57
0.625" 0.625" 2|V IN_# Y Swy gy
gxdqd =&
i S
‘ : A > Florida o .CID Q E
SN ¢ S
1 6’9 @/) @" Yo _OF 0309, 0 % sy ==
it Dagey 3 —
SINGLE_QUTSWING UNIT (X DOUBLE OUTSWING UNIT w/_SIDELITES (OXX0) By P20l 3,33 &3
VIEWED FROM_INTERIO VIEWED FROM INTERIOR M Ve i e w > Yol Z %
Division onirol S % i 2 o
=1
Ol &710o
7.75" MAX. OAy 54" MAX. OA. 1 4 7450 A FRAME WDTH |— |=——— 107" MAX. O.A. FRAME WIDTH ={
FRAME WIDTH FRAME WIDTH 7457 MAX. OA. FRA s |k
— F o o
‘ >
EII?% 7 g5
O
&£

97.5" 3

MAX. X X R,

O.A e e E Z

FRAME g
HEIGHT o . At
=
#| # 5]
{%J é
=
~
N
s
ALLOWABLE INSTALLED CONFIGURATIONS <
(NOT TO_SCALE) _
DATE: 1 ~06-02
, scaE:  N.T.S.
TABLE 1: Prepared By owe. &% WIN
DESIGN PRESSURE RATING WHERE WATER INFILTRATION ) -y _
REQUIREMENT IS NEEDED | é( e Y g 7
Eric S. Nielsen DRAWING NO.:
UNIT_TYPE WITH_SURFACE BOLTS oS Nisen
SINGLE OR DOUBLE, WITH OR WITHOUT SIDELITES +55 psf =55 psf 5350 P'r"CS,tLLci St C25 PTC, L6L9CO 1788 S$-2200-01
ogswell Street, Suite . _ _
(ALL ALLOWABLE CONFIGURATIONS) Rockiodge, Florida 32955 P?_Z:ejgﬂ AL o 1 or 8.

FBPE Certificate of Authorization NO. 25935




CONCRETE/ CONCRETE/
15" MASONRY 15" MASONRY
MIN. | BY PTHERS e VIN. BY OTHERS -
0.25" EMBED. St AT 0_25~EMEJ?ED. R
SHIM SH‘IM
i T
! 7 19 s ! T
oL R
SEE DETAL 5_~"7 & SEE DETAIL 5~ /¥ 32
ON SHT. 7 i /@ ON SHT. 7 ~
va REep SEE NOTE 3
26 (s /@ SEE NOTE 6/ ON SHT. 4
70 | 175" N, ON SHT. 4
PANEL THK. 1.75" MIN.
PANEL THK.
SEE NOTE 2
ON SHT, 4 9
SEE NOTE 2 ) | \@
ON SHT. ¢ N 0.125" MN. | 0.125" MN. __||__
GLASS THK. 96 975" GLASS THK.
| WA A
INTERIOR ~— EXTERIOR OVERALL ' INTERIOR —- EXTERIOR
97.5" ‘ pangL  OVERALL i 96.0”
- FOR OPTIONAL FRAME  FOR OPTIONAL )
MAX. /2" 16 HEIGHT  piryont /2" 16 MAX.
OVERALL G. .G. OVERALL
e ON'SHL 7 ON'SHT. 7 OANEL
HEIGHT HEIGHT
SEE NOTE 2
SEE NOTE 8
55K 0% ¢
48 SEE NOTE 8/
o ON SHT. 4
SEE DETAL 5 i
5 ON SHT. 7 N\

f 0.65 ) Wit XN CONCRETE/
' 25° U R CONCRETE/  1.25" LORLES MASONRY
BED. 1.757]_2.5" MIN. MASONRY MIN, 2.5" MIN. '_ BY OTHERS

: MIN. " EDGE DIST. BY OTHERS  EMBED. TTUMIN, T EDGE DIST.

(A VERTICAL CROSS SECTION

\Z/ WITH PEMKO BUMP THRESHOLD

B\ VERTICAL CROSS SEC

TION

AT SIDELITE SASH

[TEM DESCRIPTION MATERIAL
T | DOOR STEEL FACE SHEET 24GA. (0.020"MIN.) STEEL
2 | FRAME HEAD (FINGER JOINTED PONDEROSA PINE) WwooD
3 | FRAME HINGE JAMB (FINGER JOINTED PONDEROSA PINE) WooD
4 | SIDELITE FRAME HEAD, SILL, AND JAMBS (FINGER JOINTED PONDEROSA PINE) WooD
5 |4 x 4" BUTT HINGE 12ga.(BY HAGER) STEEL
6 |#9 X 1" PFH WOOD SCREW (HINGE TO DOOR) STEEL
7 | SURFACE BOLT (BY IVES) STEEL
8 |1/4"20 SEX BOLT W/ 1/4’=20 FEMALE END x 1 3/4" LONG STEEL 5
9 | HIGH DAM BUMP THRESHOLD (BY IMPERIAL) ALUMINUM o
10 | COMPRESSION WEATHERSTRIP FOAM = @
11 | DOOR TOP RAIL LVL G @ x =
12_| DOOR BOTTOM RAIL Wo0D s hkud
13 | DOOR LATCH STILE LVL s 2
14_|#10 x 1 3/4" PFH WOOD SCREW STEEL ]
15 | LOCK BLOCK LVL = §_<: =
16 | DOOR HINGE STILE STEEL A=
17 | EXPANDED POLYSTYRENE (1.0 to 1.25 Ib./cf. DENSITY) BY JELD-WEN FOAM — 55 =
18 | ODL LITE FRAME 1/2" IG (HIGH PERFORMANCE POLYPROP.) POLYPROP. S E n::.
19 | 2x WOOD SUB BUCK WwooD
20 | SHIM (0.25" MAX. THK. HIGH DENSITY PLASTIC OR GREATER) wooD
21 | KWIKSET 400 SERIES KNOB STEEL 2
22 | KWIKSET TITAN 700 SERIES DEADBOLT (NOT SHOWN) STEEL 5
23 | SURFACE BOLT SPACER (BY IVES) PLASTIC 59 2 n
24 | #8 x 2" PFH_WOOD SCREW STEEL © o S
25 |#8 x 2 1/2" PFH WOOD SCREW STFEL o > QS g
26 | SURFACE BOLT STRIKE PLATE (BY VES) STEEL E‘,—J, o 3
27 | ASTRAGAL STRIKE PLATE (BY IMPERIAL) STEEL o B
28 | ALUMINUM EXTRUDED ASTRAGAL (BY IMPERIAL) ALUMINUM Lg“ - g S
29 | SILICONE CAULK (CR LAWRENCE 33 C) SILICONE 2589 — 2
30 | GLAZING COMPOUND (QSD BY ODL) SILICONE =L 3 oy
31 [ MULLION CAP WooD Sed? E%
32 | 3/8" QUARTER ROUND SIDELITE STOP wooD e SSof &
33 |1/2" INSULATED TEMPERED GLASS (BY TRINITY/AMPAC) GLASS 2 r
34 | SCHLAGE KNOB SET #F51 (QUALIFIED UP TO +/—47 PSF) - ok g
35 | SCHLAGE DEADBOLT #B360 (QUALIFIED UP TO +/—47 PSF) (NOT SHOWN) - a @
36 | HINGE STILE REINFORCEMENT MDF ez
37 |1/8" TEMPERED GLASS (BY PPG) GLASS =
38 |ODL LITE FRAME 1/8" S.G. (THERMOFIL-P6-30FM0391) POLYPROP.
39 | SIDELITE STEEL FACE SHEET 24GA. (0.020" MIN. STEEL) STEEL 8
40 |#8 x 1 1/2° PLASCREW (ODL LITE FRAME) . STEEL <
41 | PRESSURE TREATED MULLION BAR (3/4" x 4 9/16” x 97 1/2) P.T.WO0D S
42 | YALE KNOB HERITAGE SERIES STEEL ole
43 | YALE DEADBOLT HERITAGE SERIES (NOT SHOWN) STEEL =2
44 | #10 x 1" PFH _WOOD SCREW STEEL |l
45 |[NOT USED - S
46 | #10 x 2" PFH WOOD SCREW STEEL o
47 | BRAD TRIM NAIL 16GA. x 3/4" LONG STEEL 8
48 | 3/16" ITW TAPCON ANCHOR W/ 1 1/4" MIN. EMBED. STEEL &
49 | FRAME LATCH JAMB (FINGER JOINTED PONDEROSA PINE) PINE S
50 | GLAZING COMPOUND DOW 1199 SILICONE f
51 | #10 WOOD INSTALLATION SCREW W/ 1.50" MIN. EMBEDMENT STEEL S
52 | DOOR LATCH STRIKE PLATE STEEL sl
53 | DOOR LATCH DEAD BOLT STRIKE PLATE STEEL S|°
e R
DATE: 1-06-02
Prepared By: SCALE: NJ;;{?_.N
T —m—m— [
é{ ( ‘((07 cHk. BY:  RW
Eric S. Nielsen ' ' L -
Florida P. E. No. 41323 DRAWING NO.:
PTC,LLC PTC, LLC S$-2200-02
e e Soes Phone: 321-690-1788
FBPE Certificate of Authorization NO. 25935 Fax: 321-690-1789 SHEET _2 oF _8




SEE NOTE 4
ON SHT. 4

wn

@ BOE PDE®EG @) () G)SEE NoTE 7
FOR OPTIONAL
1/2" 16,
ON'SHT. 7 . -
| g - 0.125" MN.  pudll) Do PANEL THK. O Co .

s &
] GLASS THK. B
) R SLEa¥
L |> -— g g ™«
: o
; ! . Egsg
. // =~ hm
. . ] > §
AN — AN ARt RL
R E 10 2 ./; Cal g3 T
?Y‘ ~ /-/>// : ' . .. B'b
\ . 7 s ..: oo .
, SEE DETAL 5_ "~ 7/// S Doy
. ON SHT. 7 S s 3w5
SEE DETAIL 5 Lo L L L - prdoucr revieen =<3 4
ON SHT. 7 SEE NOTE 2 SEE NOTE 2 S imseroica) 57 Sy
ON SHT. 4 ON SHT. 4 gy U8
: o BoQs 5
0.25" MAX. " L. b oHal 23
o 1T SHIM (T HORIZONTAL CROSS SECTION B\ HORIZONTAL CROSS SECTION O-ZgHIxAX-_, — g:g% ke
| 15" MIN. | &7 [ATCH JAMB 1O BUCK 37 HINGE JAMB TO BUCK 1.5" MIN. T Tioduc Coraa | W S 30| @
EMBED. — emgep. T Sxge ™
ol S 3%
SEE NOTE 1 sl |e
ON SHT. 4 ASTRAGAL THROW BOLTS (2) TOTAL; (1 EACH) -
44 31" DIA x 9.0" LG. AT TOP & BOTTOM
Qe 0.31” DIA. x 9.0" LG. ATTOP & B T
INACTIVE EXTERIOR ACTIVE
FOR OPTIONAL — B
¢ INACTIVE FOR OPTIONAL ‘ '
1/2" 1. ACTIVE 1/2" 16. S
ON SHT. 7 175" MIN. ON'SHT. 7 w2
ol Dy \ PANEL THK. [ ] S =g
& (2 ANk — A SR v [0.125" MIN. it
. \ qo n — S GLASS THK. =
P [ - ! [reey
7 o
’ ‘ - I 23 &
J”_! 5 8 §
i INTERIOR =
] S
HORIZONTAL CROSS SECTION 'QTE
SURFACE BOLT MOUNTING &
&=
DATE:  1—-06~02
SCAE:  N.T.S.
Prepared By:
SEE NOTE 4 pared By ,
N ouT 4 13 (28 10) (13 a—ammvenmmy |0 WN
ON SHT. 4 | SEE NOTE 2 Eric S. Ni‘fse”U? ‘ ' L g::ﬁ:: NO. i
: /E\ HORIZONTAL CROSS SECTION ON SHT. 4 Florida P & g 41928 PTC. LLC S_2200-03
G/ AT IMPERIAL ASTRAGAL 1535 Cogevel Stree, Suite C25 Phone: 321-690~1788
FBPE Cerlificate gf}\uthoﬁzaxion NO. 25935 Fax: 321-690-1789 SHEET _3_oF _8




SEE NOTE 3
ON THIS SHT.

SEE NOTE 4
ON THIS SHT.

SEE NOTE 3
ON THIS SHT.

AR

A
NN AN
\\. S

EXTERIOR
0.125" MIN.

]
| 11

N

FOR OPTIONAL
1/2" 1G.
ON'SHT. 7

29

SEE NOTES 6

ON THIS SHT. B
0. 75"'———'

NOTES:

7

/-

Z

10
\

~

SEE NOTE 5
ON THIS SHT.

SEE DETAIL 5

’w ON SHT. 7

INTERIOR
FOR OPTIONAL

1/2" 1G.
ON SHT. 7

SEE NOTE 2 SEE NOTE 2

ON THIS SHT. ON THIS SHI.

/G HORIZONTAL CROSS SECTION
\4/ AT SIDELITE TO LATCH JAMB

1. SPACING FOR ITEM #44 THE #10 x 1" PFH SCREWS ATTACHING THE IMPERIAL ASTRAGAL TO THE

INACTIVE DOOR IS AS FOLLOWS:

FROM_THE TOP DOWN & THE BOTTOM UP; 1.0", 2.5", 4.0", 5.5", 13.0", 18.0" & 26.0".

2. SPACING FOR ITEM #40 THE #8 x 1 1/2" PLASCREW IS AS FOLLOWS:

TOP_& BOTIOM, HORIZONTALLY, DOOR PANEL; 3.0" IN FROM EACH CORNER, ONE IN CENTER.

TOP & BOTTOM, HORIZONTALLY, SIDELITE PANEL; 3.0" IN FROM EACH CORNER.

ON THE SIDES, VERTICALLY, FOR BOTH DOOR AND SIDELITE PANELS; 3.0", 13.5", 24.5", 36.0°, 46.0,

57.5% 68.5" & 79.0".

3. SPACING FOR ITEM #47 THE 16GA x 3/4" BRAD TRIM NAIL ATTACHING THE QUARTER ROUND TO

"THE SIDELITE AND THE MULL. CAP TO THE MULL. BAR VERTICALLY, IS AS FOLLOWS:

TOP & BOTTOM HORIZONTALLY; 1.25" IN FROM EACH CORNER WITH (1) NAIL MID—SPAN.

ON_THE SIDES; 1.25" FROM EACH END & SIX MORE EQUALLY SPACED ON THE FIELD.

4. WHEN ATTACHING THE STRIKE PLATE TO THE JAMB AND BUCK USE ITEM #25, A #8 x 2 1/2"

PFH WOOD SCREW.

WHEN ATTACHING THE STRIKE PLATE TO THE JAMB AND SIDELITE JAMB AT THE MULLION USE
ITEM #24, A #8 x 2" PFH WOOD SCREW.
5. SPACING FOR ITEM #25 THE #8 x 2 1/2" PFH WOOD SCREWS ATTACHING THE JAMBS TOGETHER

AT THE MULLION, IS AS FOLLOWS: 6.0" FROM EACH VERTICAL CORNER WITH (5) MORE SCREWS
EQUALLY SPACED ON THE FIELD.

6. THE SIDELITE IS SECURED INTO THE SIDELITE JAMB WITH ITEM #29 SILICONE CAULK ON THREE
SIDES AND 3/8”" QUARTER ROUNDS SECURED WITH ITEM #47 BRAD TRIM NAILS x 3/4" LONG.
7. WHEN ATTACHING THE HINGE TO THE JAMB AND BUCK USE ITEM #46, A #10 x 2" PFH SCREW.
WHEN ATTACHING THE HINGE TO THE JAMB AND SIDELITE JAMB AT THE MULLION USE ITEM #14,

A #10 x 1 3/4" PFH WOOD SCREW.

8. ALTERNATE CONCRETE/MASONRY INSTALLATION ANCHORS OF EQUIVALENT PERFORMANCE CHARACTERISTICS
CAN BE USED UPON APPROVAL OF THE ARCHITECT OR ENGINEER OF RECORD FOR THE PROJECT OF

SEE NOTE 5
ON THIS SHT. @ @

O ©

()]

1.75" MIN.
PANEL THK, .
v v L ‘/ £ \' \
/!
e
/A
0 T8
,/%//
¢ N .
% . SEE NOTES 6
SEE DETAIL 5 /\ 7 // \\\ ON THIS SHT.
ON SHE. 7 7 Z N N\| SEE NOTE 2
2 SN 0N THIS SHT
NN .

T AV

FOR OPTIONAL

SEE NOTE 5 '
ON THIS SHT. @

39 SEE NOTE 7
@) ON THIS SHT.
Eagt
SEE NOTE 3
ON THIS SHT. By

Wizon Dade Product Contiol
Division

CUlr g Dlonds

“’,,Q,z—pzo‘f-ﬂf

1/2" 1.
ON"SHT. 7

INSTALLATION. st ™
9. USE ITEM #51 WHEN INSTALLING INTO WOOD SUBSTRATE AT HEAD & JAMBS. USE ITEM #25 WHEN 1.5" MIN.
INSTALLING INTO MULLIONS. USE ITEM # 16 WHEN INSTALLING INTO CONCRETE/MASONRY SUBSTRATE AT 1 EMBED.

SIDELITE SILLS.

3737 LAKEPORT BLVD.
KLAMATH FALLS, OR. 97601
PH. 541.882.3451

JELD-WEN, INC.

HORIZONTAL CROSS
SECTIONS & NOTES

WITH & WITHOUT SIDFIITFS |

STEEL EDGE GLAZED STEEL OUTSWING
DOOR UP TO 9'-0" X 8'-0"

1535 Cogswell Street, Suite C25
Rockiedge, Florida 32955
FBPE Ceriificate of Authorization NO. 25935

.
/T HORIZONTAL CROSS SECTION g
‘ AT SIDELITE TO HINGE JAMB o =
o T REVISED 0
PR 1 the Flarida @Q
5 5
SEE NOTE 3 S =
ON THIS. SHT. o a
=
32 (38 FOR OPTIONAL B =
(39 1/2" 1G. o
ON SHT. 7 8
N g
\Q\< EXTERIOR w2
DN VANR. < 8 0.125" MiN.  INTERIOR S
NN { y .
\ N = GLASS THK. E
. = Q
'\\. ~\\\ SEE NOTE 2 =
LN N ON THIS SHTZ () HORIZONTAL COROBSUSC ;ECTION 5
\. y; SE NoTES 6 &7 AT SIDELITE T $§
NN ON THIS SHT. 3
SN SEE DETAL 5 R =
ON SHT. 7 () oo 10
Prepared By: . bl
0.25" MAX ) DWG. BY:  WIN
' ' ( r CHK. BY:  RW
SHiM E”C?"L‘:g“ o ' L DRAWING NO.:
Florida P. E. No. 41323
PTC, LLC PTC, LLC S$-2200-04

Phone: 321-690—1788
Fax: 321-690-1789

sHEer 4 oF 8




74.5" MAX. OA. FRAME WIDTH

SEE DETAIL 1
/' ON SHT. 7
= —
6" (TYP.) "
- (@ 2 gﬁ; 12.5”
| J»; }:3 (TYP)' I(TYP) 1
_——
G I Il I_{| 887" .
] 7
i {iz)
. (TYP.) (TYP.)
6 26"
SPACES
@ 14.25"
: SEE - T
97.5" i / ON s%.rAlcaL ’ EEB
MAX. ¢ o4
0.A ) - j—/ \ -
FRAME e
HEIGHT I
[ _ P o T®.
26"
- 36.63" -
49
4y (vP.) (:K |
. _' o \ .
S E— W 6" =
(TYP-)-|

12.125"
(TvP.)

1:3" (TYP)
7" (TYP.) @

ik

/- AY
\ . . .
/\ SEE DETAIL 2

ON SHT. 7

DOUBLE DOOR WITHOUT SIDELITES ANCHOR LOCATIONS
VIEWED FROM INTERIOR

SEE DETAIL 6
ON SHT. 7

SEE DETAIL 3

70.25" MAX. 0.A. FRAME WIDTH ——-*l

/‘ ON SHT. 7

| e B

ROy

)Ufff Rﬂ IEWED

P - .08
ﬁﬁgn—

MizwiOade Pr
oduct C
Division ontrot

— 6" (TYP) 9" (TYP) - ‘é
n “ Q B
— 3 (7P) 6" (1) >
| 3" (TYP.)—| |‘— ¢ 3" (TYP.) g3 S5
- — . . i mm _ SEE DETAL 6 SEUS
6" (P r \Ll ' rrpmn 1 8.675" | Y[ ON SHT. 7 =238
] Wi o
@ @ &) S5Ez
sl a35§
21l -J () L]
SPACES -
@ 14.25" i (7vP.) 2
‘|| see pevaL 8||~ - - Tl =
975" [ON SHT. 7 8;5 %
n ~l ~
uax g - — SEE NOTE 5__ — - 24 H§ &
oA T ON SHT. 47N 294 S
FRAME | 12" : odg 3
HEIGHT 4 Nogsl 8
B+ AR g =
Nw — — — — . () a E S
" B8 =<
| @< 2 gL 258
- - = N - [a] M| -
OFr o
36.625" 49 T 1 At
(TvP.) i3 =
] e — — R n
Al a | T
- ) .1 I 1 = %)
3 (TP~ |— ¢ 3" (TvP.) g
3" (me) @ap— 7" (7P) %
w
W=
=]
SEE DETAIL 4 Eg
ON SHT. 7 TN\ Ritz
l—'—iﬁ' R
[
L
jrd
SINGLE_DOOR WITH_SIDELITES ANCHOR LOCATIONS 5
VIEWED FROM INTERIOR =
o
]
SiE
&
==
DATE: 1-06-02
Prepared By: SCALE: N.T.S.
- DWG. BY: WIN
EncS Nlelsen[‘57 r ' ‘ ohK. B RW
Florida P. E. No. 41323 DRAWING NO.:
PTC, LLC PTC, LLC $-2200-05

1535 Cogswell Street, Suite C25
Rockiedge, Florida 32955
FBPE Certificate of Authorization NO. 25935

Phone: 321-690~1788

Fax: 321-690-1789

SHEET 5 ofF 8




i 107" MAX. O.A. FRAME WIDTH

@

4
SEE DETAIL 1]
ON SHT. 7
6" (TYP.)
3" (1vP.) ﬁ:_lj (TYP.) z gng
3" (TYP)\ o o
_ avey | (TYP)- — ()

I —

3
_./’ —
6 26"
SPACES
@ 14.25"
. - —  SEENOTE 5 _ _ 41
e | ON SHT. 4 SEE DETAIL 7 FE
975" /‘ ON SHT. 7
MAX, »
0.A \\ - - 24
FRAME
HEIGHT /’

(W@ —~| |-=3" (7P)
7" (TYP.)§ . 3" (TYP.)
— 7" (TYP.)

@ — . ' ,:_)\ SEE DETAL 2E

ON SHT. 7

DOUBLE DOOR WITH SIDELITES ANCHOR LOCATIONS
VIEWED FROM INTERIOR

116" () INIIL T 0| 75 |
e )@ T&)
1 (Tvp.) T

ERODUICT RENEWED
a5 with the:iou-if :
o 02.0799.05
- Q%#R-ﬁ»
37.75" MAX. By } ond
FRAME WIDTH [Q’V,Ziff“d”md“"“""”“"‘
( l% ) . . J
SEE DETAIL 3 —
ON SHT. 7 " >
6 .
| "' I‘_(TYP.) | U O n
J—— — - SEE DETAIL 6 < @ tili‘g
t - 1 Uiy
&) =SEg
(TYP.) T Q N = :
6 6 - 26" . l_l.I, E‘B 5 o,
SPACES SPACES
@ 14.25" @ 14.25" 2
- - TE ::
SEE DETAIL 8 ‘g 0
ON SHT. 7 97.5" . Sy ¥
~ WAX. 24" =5 8
— on ||- - e I
12" | , FRAME a .o', 'é =
HEIGHT 1 ™Ry o
) 2 EEE
= E — . — ES o [
o] — (4] o anJ %
@ w90 S
P
— 2" LB8EY T
Ol 8 = %
. — — =] TR
36.625" @ § E E<E
(T7P.) - EEE - T
- . EqES
I
- ' I -h EWSED o
—‘—l 6" 8'58,"4— I:R? e 1‘,,rlui the Flondﬂ E
TYP. TYP. ‘{w 0 .D; b
%i%&” S
3 . Ertie] & L=z
SEE DETALL 4 o - E§
/ ON SHT. 7 o fut Conol ble
[ = : : : L )
i \l‘/' 1 ;
SINGLE DOOR WITHOUT SIDELITES ANCHOR LOCATIONS o
VIEWED FROM INTERIOR g
=
$
&
©
P =i
) DATE: 1-06-02
' Prepared By: SCALE: N.T.S.
(] —amvemy |2 WN
e (f ~ r CHK. BY: RW
Eric S. Nielsen W ' ‘ DRAWING NO-
Fiorida P. E. No. 41323
1535 C PTqu'tLLci Suite C25 PTC, LLC 5-2200-06
e Forice, 3298 Phone: 321-690-1788
FBPE Ce':%i';l:adgfe;\z{ﬁ:)?izagggsr‘?o. 25935 Fax: 321-690-1789 SHEET 6 oF _8




DETAIL 1 ~ @ HEAD JAMB
ASTRAGAL STRIKE PLATE

15" MIN. C-SINK.

SEE NOTE 9
ON SHEET 4/

COUNTERSINK FOR INSTALLATION ANCHORS

QSD-16 GLAZING
COMPOUND (0DL)

EXTERIOR

/;7/
Z

77777,
N\

4
s
2oe

777

>N

W77,
N2

DETAIL 2 — @ THRESHOLD
ASTRAGAL STRIKE PLATE

SEE NOTE
| 7 SHEET 4

1
\\ //

J*! \\
Lole

DETAIL_6
HINGES TO JAMB & DOOR

EXTERIOR

J

I 7
1%

|
¢
|

N
[
NN 0.125" MIN.
LN TEMP. GLASS
INTERIOR 47 THICKNESS
0.5" GLASS BITE
SEE NOTE 2
ON SHT. 4

GLAZING DETAIL ODL LITF FRAME
SINGLE PANE 1/8" TEMPERED GLASS
HP POLYPROPYLENE
THERMOFIL—-P6—-30FM0391

INTERIOR

SEE NOTE 2
ON SHT. 4

DETAIL 3 — @ HEAD JAMB

SURFACE BOLT STRIKE PLATE

DETAL 7
STRIKE PLATES TO ASTRAGAL

QSD-16 GLAZING
COMPOUND (0DL)

GLAZING DETAIL TRINITY LITE FRAME

1/2" INSULATED TEMPERED GLASS
LUPOY EU-5007

93

PRODUCT RENEWED
: dei ith the Florids

S
D
s§
G285
ZEGS
ZaI
Wwe=o
[
DETAIL 4 — @ THRESHOLD Q' S : g
SURFACE BOLT STRIKE PLATE I-I_I.l E § x
= omx Q
&)
= S
// @\ Z
S ok
/ 0,
” I \l SEE NOTE 4 U'-.:;:Qt: %
’21\ |oN sHT 4 K -
° () g >_'| 8
= Segy &
) ] g = & L(})J E
N Qo -
- WaRsi=he
51 858
DETAIL 8 2 =
STRIKE PLATES TO JAMB 2 <
Elx
)
£
S
&
o2
0.50” MIN. 0.125" TEMP E%
GLASS THK. GLASS (TYP.) =
— L 2
R g
8
0.25" AIR SPACE v :
0.25" x 0.50" S "
INTERCEPT IOT &
" STEEL SPACER 3
0.5" GLASS BITE -
DATE: 1-06-02
Prepared By: SCALE: N.T.S.
S AN S DWG. BY: WIN
é;({%((o‘) : CHK. BY: RW
Eric S. Nielsen r" SRAWING NO-
Florida P. E. No. 41323 b
1535 C PTuC étLLCt Suite C25 PIC, LLC S§-2200-07
pe Florda, 2292 Phone: 321-690—1788
FBPE Ce‘;i%zl:fedgfe}mﬁltho?izagggsﬁo. 25035 Fax: 321-690-1789 SHEET 7 oF _8




4.56" ; _:I_ 1127 : —I: 1.5" ﬁﬁPUP{RF\JEVJF]‘\
- 0.62" ‘
/' Vs 7 77 "
T/,/// /// /./;- e \ W | — 125" |—
1.25 ///////// A 4 1.219" ’ A "H— 0.125”
1\ L0003 05" i g i ASTRAGAL HAS THO 312" e
‘. . f 025" DIA. x 9" LONG BOLTS;
2.19" — —1 025 1 ON TOP, 1 ON BOTTOM =
(2)3) 1.75" 25" O B
ﬁ@ WOOD JAMB DOOR TOP RAIL & SIDE STILES £&
FINGERJOINTED PINE 22GA (0.029") ROLL FORMED STEEL O B e
J O© g
’I " l__ B = S 9
” ) 1.02 @ ODL LITE FRAME 1/8” G a3y
4,041 — 1.73" —] ASTRAGAL STRIKE PLATE HP POLYPROPELENE W e
—~| |—0.25" ASTRACAL (IMPERIAL) (IMPERIAL 0.125" STEEL) =<Eg
=0 6063-T6 ALUMINUM AIES
| - - o :
, e T §R3z
" 1" . " 7
0.477" 0.81 .
T | 1 N_J ] ’— 1.38 j %
S— 2.04" Ron
QUTSWING BUMP FACE THRESHOLD DOOR BOTTOM RALL N O O St
0.051" WALL ALUMINUM 24GA (0.020") ROLL FORMED STEEL O O o=y E
MULL.CAP 1 N / H.q &
N oy S
. PINE 0.097" —{}— 4 ) Qogd,., S
8 0.75" ODL_LITE FRAME 1/2" IG S8l 8
0.75" 0.75" HAGER STEEL BUTT HINGE HP POLYPROPELENE o %: IS
4" x 4" x .097" THK. STEEL 88 S
g ©H
© © O __I ' 125" PRODUCTREVISED ol 858
203" ., 287" . "— as complying with the Fiorl 8 L. —
L v | L e o020, oSEP |3
., jon Dat 2
© © o © [ _10©)|om Expiraion Daie gl
f E‘\izam‘ ;gade Product Cen::g% o
Division @
@ SURFACE BOLT IVES #454 SURFACE BOLT SPACER @ SURFACE BOLT STRIKE HINGE STILE REINFORCEMENT <
(0.25" THK. STEEL) (0.50” THK. PLASTIC) (VES 125" STEEL) MOF (12 13/32" LONG) S
053 } wl2
n " ” L m
¥ — 171" — 0% g S
n 9
1 ] 0.53" —.J l: o14 8
1.19 =
COMPRESSION WEATHERSRTIP S
4 - @ SCHLEGEL Q—LON QDS 650 S
oL |
4.25" s
B
/‘ DATE:  1-06-02
DIA. VARIES WITH f Prepared By: sou  NIS.
HARDWARE USED i prg— LU L\
FlorlgchSENﬁl):gtasz 'L (D:::W:; NO.: RW
WO0D LOCK BLOCK PTC.UC PTC, LLC $~2200~08
LVL B o s 33686 Phone: 321-690—1788
FBPE Certificate of Authorization NO. 25935 Fax: 321-690—-1789 SHEET _8 oF _8




